AL6 EAMRM L ESE A B

$Eaa(Eeig) B HHAE

L % 8% 8% % o | e
3le | _kanaad w [ E A &35 % hEWEE | % B
B | F |FesbpT 1.5 Ke [Thhomn | Ke [SERUIE 2 Ke |filigs okg | & 85.1¢g
o0 | R |trmsna 1 Kg [T 05 Kg |£EER 0.1 K |smoeses  Ofi | g |Bad
8 AEPT 05K |[ETT 0.5Ke |aT#fRés  0.1Ke i3 4.4 ¢
2| |wnK 03 Kg [4IBE/NT 03 Kg |#i5% 0.1 Kg e
#B BE 0.1 Kg 7.3 g
22 HF
P 495 K F
27
3 | 3% |G E)(RIED 2588 b a3 %8 o B A i (R RBA D) A
A 5 b 1.5 Kg [@REEUIR | Kg |[/NER&EAT 2 Kg [F#2(Ri) 1 [ 130.5 g
21 = TE(1.2K) 1 & |48 0.5 Kg #4445 0.1 Kg |£L44(H9) 1 i aE:
a AETT  05Ke |ERE 03 Kg |#FERGELE 0.1 Kg [lL&EpT 0.6 Kg 3l.4 g
2 PIES 0.2 Kg [AH& 0.1 Kg |84 0.1 Kg |#RstH 0.2 Kg BE A -
7 HH 0.1 Kg |48 0.1 Kg TRE T 02 Kg 40.1 g
= HH 0.1 Kg hg :
4 4] WEH@) 01 1001 X+
27
3 | EAEDIY A0 o 16 LR A8 ) (HRBIS ¥ s HFAAHEF 5 AEdE
B | [mecom 30 W |z 30 8 |BEBIE 2 Ke |4THGE) 1/ 84.0 g
22 fié FEinEn 30 @ |EILE 0.5 Kg |HbGH3Q20Ke) 0 £5 [FFEEER(I) 1 Eay
8| % FARsE 0.3 Kg |H5F#0.6K) 0 /7 [FARHT  0.7Ke 17.7 ¢
g|E #fst 02 Ke ARy
) # FEik 0.1 Kg 27.6 g
= B
P 647K+
27
3|8 EEREH F B &k Xp A A KR EHER S o EEEA
A o FEHAE 30 & [/heEITR | Kg |E#/ 2587 2 Kg [$8ESE9T 1 Kg Bf 100.0 g
23 fr i ebed ] 0.5 Kg |AHE 0.1 Kg |FHE(H) 1/l % Fa ¥
a8 ETH 0.5 Kg |4IEHRES 0.1 Kg |4 05K | 2= 40.7 g
7 AEH 0.1 Kg o 0.1 Kg |Ffs#gs 0.2 Kg % L
#7 ST EHLE 0.1 Kg |&4 0.1 Kg %’ 36.5 g
™ KM% 00 Ke FRES &
i 2 869 A £
27
3 | & |BELAGHRTH) B ok ) A g A% RAREH EEHE -
B | & [oomsT 1.5 ke [#0H 2Ke [NAF 2.5 Kg |QMETT  1Ke 80.1 g
24 & Z ke | Kg (%2 0.3 Kg |FHEH 0.1 Kg | HAF) 1 1% Eag:
8 bt 0.5 Kg [4LEFE}4R 0.1 Kg |£LEHHRER 0.1 Kg [fgnpss 0.2 Kg 29.5 g
£ LEEEDT 05 Kg |[FEOs 0.1 Kg | &5 0.1 Kg BEBY -
1] STEAE 0.1 Kg 29.7 g
5 BE
™ 688 A F
27
ER =] ¥ F g 4 L LR s EE FEHAEH BBJE -
A | [emman 1 m |SEaE 1S Ke |[SBEUR 2.5 Ke |80 L M 84.1 ¢
95 L NI 1 Ke |[ETT 0.5 Kg [AH%% 0.1 Kg [435R 0.5 Kg ey
a HEIEEPT 0.5 Ke |Bi&/ M 03 Kg |4TEERS: 0.1 Kg |HERGER 0.2 Kg 19.4 g
2 FEEPTEE 0.5 Kg E&iEhR 0.2 Kg AE BT -
#y ZAHkke 03 Kg EEME 0.2 Kg 22.1 g
75 BHF
P 604 X
27
HHRAT R EH Rara Bk 05-5863766 14 © 05-5875918
R R EAE S

[AETS 3

REBRM Y 2 ]




